PIRANHA OFFROAD PRODUCTS BTMBT50T

"UPART NUMBER |

'‘Piranha Off Road products are not associated in any way with MAZDA Australia Pty Ltd or any of its related companies®

To Suit MAZDA BT50 2011 - 2015 e
WITH NO TUB LINER =
B g

Drill 6mm holes

e, through guard 3

PARTS INCLUDED WITH TRAY

2 X Spacers 8mm

1. Place tray in position
2. Drill 4 X6mm holes through plate into wheel arch

2 X M6 30mm . .
2 X M6 50mm 3. Bolt tray to side of wheel arch with 2X M6 30mm on
2 XM6 15mm lower and 2X M6 50mm on upper placing 2 X spacers

2 X M6 Countersunk 25mm
6 X M6 Nuts

1 X M& Small Washer 1
2 X M6 Large Washers

1 X4 Hole Support Plate

1 X2 Hole Support Plate

1 X Top Mount Support
Bracket TMBT50 190mm

1 X Special Top Mount

2 X Bolts

between plate and body .Check inner guard for bolt
protrusion.

4. Drill 2 X 6mm holes through base of tray through top of
wheel arch.

5. Bolt tray to top of wheel arch using support plate under
guard with washers with 2 X M6 countersunk 25mm

6. Place battery in position secure with J bolts and top
mount and top mount support bracket to go between top

1 X Template
: mount and side rail, secure with 1 X M6 15mm.
DBEc‘)‘r‘OSF ENSURE POSITIVE TERMINAL IS ADEQUATELY COVERED

DBE180-SX TO PREVENT SHORTING
Nov 2017

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTMBT50T




